Math 146/141 Common Final Exam

Sample 2
1)
Graph the parabola.  Show the vertex.
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2)
Solve.  Include any complex numbers in the solution set.
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3)
Multiply the complex numbers.  Simplify.
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4)
Solve.
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5)
Solve.
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6)
Rationalize the denominator.
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7)
Simplify.
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8)
Simplify.
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9)
In a right triangle the hypotenuse is one more than two times as long as the shortest side.  The third side of the triangle is 15 meters long.  Find the lengths of the other two sides of the triangle.
10)
Simplify.
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11)
Solve.
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12)
Simplify.
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13)
Multiply and Simplify.

[image: image12.wmf](

)

(

)

23

2121

aa

-+-


14)
Simplify.  Write the answer in scientific notation.
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15)
Simplify.  Write the answer with positive exponents only.
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16)
$6,000 is invested into two accounts.  One account pays 6% annual interest and the other pays 9%.  The two accounts earned a total of $471.  How much money was invested into each account?
17)
Solve the system of equations.
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18)
Graph the linear inequality.
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19)
Find the equation of the line that contains the points (3,-2) and (1,4).  Write the equation in slope/intercept form.

20)
Solve.  Graph the solution set.
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21)
Solve.  Graph the solution set.
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22)
Solve for y.
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23)
Factor.
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24)
Divide the polynomials.
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25)
Find 
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